exercise 11-9
1.standard labor hour = จำนวนที่ผลิต10000unit x 0.8 DLH per unit   = 8000 DLH
2-3.. Fixed overhead cost in flexible budget
actual fixed overhead cost

flexible budget fixed overhead cost

fixed OH applied

$45600




45000*



8000 DLH x $6 per hr =$48000

budget variance =45600-45000 = $600 U



volume variance =$3000F

* flexible budget fixed overhead cost = 48000 -3000 =$45000

4. denominator activity    = $45000 / $6 per hr = 7500 DLH

Case 11-29

Item








X


Y

1. denominator activity






18000


30000
2. standard machine hour





19500


28000

3. actual machine hour






20000


27500

4. flexible budget variable overhead per machine hour


 $ 1.6


$ 2
5. flexible budget fixed OH(total)





72000


135000
6. actual variable OH






30000


55275

7. actual fixed OH






72500


134600

8. variable OH applied to production




31200


56000
9. Fixed OH applied to production




78000


126000

10. Variable OH spending variance




2000 F


275 U
11. Variable OH efficiency variance




800 U


1000 F

12. Fixed OH budget variance





500 U


400 F
13. Fixed OH volume variance





6000 F


9000 U

14. Variable portion of the POR 





1.6


2
15. Fixed portion of the POR





4


4.5
16. Under or (over)applied OH





(6700)


7875
Company X :

Variable overhead data (โจทย์บอกมา)

(1) Actual H x actual rate

(2) actual H x standard Rate

(3) standard H x standard rate
   
 AH x AR


AH x 1.6




SH x 1.6

=30000



32000*




= 31200

Variable OH spending variance = ?

Variable OH efficiency variance =800 U

*สามารถคำนวนหา (2) ได้จาก   =  (3) + efficiency variance = 31200 + 800 = 32000

 หา AH  ได้จาก 32000 / 1.6  = 20000  

AR = 30000 / 20000 = 1.5

SH = 31200 / 1.6 = 19500

Variable OH spending variance = 30000 - 32000 = 2000 F

Variable POR = SR = 1.6

Fixed OH data :

(1) Actual H x actual rate

(2) actual H x standard Rate

(3) standard H x standard rate
   
 AH x AR


AH x SR




SH x SR

=72500



72000*




78000**
fixed budget variance = 500 U

*หา (2) ได้จาก 72500 - (2) = 500 ;   (2) = 72000

หา SR ได้จาก : 72000 / 18000(denominator activity) = $4

**SH = 19500   ดังนั้น (3) = 19500 x 4 = 78000

fixed volume variance  = 72000 - 78000 = 6000 F

***overapplied overhead

variable OH spending variance


2000 F

variable OH efficiency variance


800 U

fixed OH budget variance



500 U

fixed OH volume variance



6000 F


overapplied overhead

        $ 6700

Company Y :

Variable overhead data (โจทย์บอกมา)

(1) Actual H x actual rate

(2) actual H x standard Rate

(3) standard H x standard rate
   
27500 x AR


27500 x
2*



28000 x 2*
=55275



= 55000




=56000

Variable OH efficiency variance =1000 F

*สามารถคำนวนหา  SR ได้จาก :    -1000 = (27500 - 28000) x SR   ;  SR = 1000 / 500 = 2

variable OH spending variance = 55275 - 55000 = 275 U

Fixed OH data :

(1) Actual H x actual rate

(2) actual H x standard Rate

(3) standard H x standard rate
   
 AH x AR


AH x 4.5
**



28000 x 4.5**
=134600


135000*




126000

fixed volume variance = 9000 U

*หา (2) ได้จาก (2) - 126000 = 9000 ;   (2) = 135000

**หา SR ได้จาก : 126000 / 28000 = $4.5

**AH = 135000/4.5 = 30000 (denominator activity)

fixed budget variance  = 134600 - 135000 = 400 F

***overapplied overhead

variable OH spending variance


275 U

variable OH efficiency variance


1000 F

fixed OH budget variance



400 F

fixed OH volume variance



9000 U


Underapplied overhead

        $  7875

